Assistance Required: I need to model and solve this problem using Excel spreadsheets.   I need to be able to understand how to derive the answer.  So, I need to see the formulas and the step by step approach so I can see how it was done and learn/understand for future exercises.  
It’s very important that I’m able to see the work involved so I can learn how this was done.  Please take me through the step by step procedures to solve this problem including and math and especially the formulas involved in the spreadsheets.

I was able to figure out the formula and design the spreadsheet for part (a) (attached).  That is as far as my level of knowledge takes me.  

Economic Order Quantity
        (a)  Creating the spreadsheet:
   A particular raw material is available to a company at three different prices,   depending on the size of the order.

	If you order  …
	You will pay …

	Less 100 pounds
	$20 per pound

	More than 100 1        100-999 pounds
	$19 per pound

	1,000 pounds or more
	$18 per pound


             CREATE a spreadsheet showing two columns.

 For the first column: It will have the range of lot sizes.  Use increments of 10  when the price is $20 per pound; use increments of 100 otherwise.

 For the second column: It will show the price per pound that you will pay, depending on the lot size.  Use the built-in function  IF  to create this column.

(b) Finding EOQ 

           Here  is more information:  

o The cost to place an order is $40.  

o Annual demand is 3,000 pounds. 

o Holding (or ‘inventory’ or ‘carrying’ or ‘storage’) cost is defined to be    25 % of the material price.  
o We assume that the size of the order (= ‘lot size’ = q) remains constant throughout the year.
Definition:  The EOQ (Economic Order Quantity) is the lot size that makes the 

Annual Total Cost a minimum.

To help you understand all the costs involved in considering the Annual Total Cost, let’s go through an example where the lot size is 50 pounds.  That means each time we place an order, we order 50 pounds of the raw material.

 Since we need to satisfy an annual demand of 3,000 pounds, we will have to place 
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 = 60 orders during the year.   Each time we place an order we pay $40, so if we decide to order lots of size 50 we will incur an Annual Ordering Cost of 
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 = $2,400.

 Holding Cost models the cost of keeping inventory before it has been sold or used in production.  The formula for Annual Holding Cost is given as    

Annual Holding Cost  = 
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  *  (price per pound) * (25%).

[You will justify this formula in your core Operations course—for now, just use it.]

Thus the Annual Holding Cost will be   
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 * $20 * 25%  =  $125. 

 Finally, we will have to actually buy the raw material.  If we order lots of size 50 pounds, then the per-pound price will be $20.  Therefore we will have an Annual Material Cost  of   $20*3,000 = $60,000.

So, in this case, the Annual Total Cost for a lot size of 50 pounds will be $62,525: 

	     Ordering Cost
	=  $2,400

	  +  Holding Cost
	=  $125

	  +  Material Cost
	=  $60,000

	Total Cost
	=  $62,525


*******************************************************


            NOW you are ready to find the Economic Order Quantity.

 Use the spreadsheet described in (a) to calculate Annual Total Cost depending on the lot size.  

 Find the Economic Order Quantity (EOQ).
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